TpuroHomMmeTpuyeckKue
YpaBHEeHUA



ecam |al = 1, To peweHnit Het cosx=0=x

Cosx =a cosx=1=x =2n

ecm lal < 1,Tox = +arccosa + 2nk,k € Z
cosx =—1=x=mn+2nk,k € Z

ecnn |a| = 1, To peweHnit Het sinx =0 =

sinx =a ecm|al| £ 1,10x = (—D*arcsina+nk,k €Z sinx =1 =>x=§+ 2k, k € Z
x =arcsina+ 2nk,k € Z

sinx =—-1=:
x =m—arcsina + 2wk, k € Z
T(kx+m) =a
tlgx=a x=arctga+nk,k€eZ - {cos
= tn

ctgx =a x=arcctga+mnk,k€Z



anMep tgx=a=>x=arctga+mnk,k €2

Ca) sin2x = L _m\_¥3
PRWNTb ypaBHEHUA: a) Sin2x = > 0) tg (4x 6) = 33.
: [
Pellexme: 0)4x ——=arctg —+nk,k€Z
a)t=2x 6 3
. 1 V3 m
sint =3 arctg— = —
) 1 3 6
t=(-1D"arcsin-+nk,k€Z
2 4x — — +T[k,k €Z
1 = 6 6
arcsin—- = — T
2 6 4x =—+mk,k € Z
t_(1V +rk k€ Z 3 )
T T
Pv = (— 1\" vk ke7 x=rt o keZ

Otset:a) x = (— 1)kn+— k ez 6)x—12+—,keZ



[Mpumep:

y . 1
HaT1 KOpHU ypaBHEeHMA Sin 2 = -, KOTOPbIE NPUHAA/IEKAT OTPE3KY [0, r].
PeweHue:

( 1)’<”+”kkez
x =(— — 4+ —,

12 2 T(kx +m) =a
k=0;1;—-1;2; -2 ...

T T

— — (—1)0___ - __)cos
k=0=>x=(-1) 12+O 1ZE[O,n] T_{m
k—1=>~x—(—1)1£ E—5—7TE[O7I]

B B 12 2 12 ’
k——1:x—(—1)_1£—z——7—né[0n]

B B 12 2 12 ’
k=25x=( 1)27r+27r_137te[0 |

— a7 1272 " 12 7T

T 5m

OTtseT: —,—
12712



[Tpumep:

P&£LWNTb YpaBHeHMe: 20032)2—C+\/§cos)2—c = 0. X

PelweHue: oS5 = 0
cos>=b 2b*+V3b=0b; =0, bzz—g Cosgz_g

X X T
coszz0(:>§=§+nk,keZ(:>x=n+2nk,keZ

= 3 =+ ar 3 + 2k, k € Z
____@__ S —
COS2 > > arccos > K,
51

( V3 V3
arccos —?) =T —arccos — =—
X 571 107
Ezi?+2nk,kez=>x=iT+4ﬂk,k€Z

OmBeT:x =m+2nk,k € Z; x = il%n+47tk,kEZ



[Tpumep:

2 2

PELWMTb ypaBHeHue: cos*x — sin®x — cos x = 0.
PeweHue:
sin’x =1 — cos?x

2cos’x—cosx—1=0
cosx=2>b
2b>°—b—-1=0

1
bl — 1, b2: —5
cosx =1 x =2nk,k €Z

1l & 21T

cosx=—§ x:i?+2nk,kEZ

OtseT:x = 2nk,k €EZ, x = -I_—z?n+2nk,k €Z



[Mpumep:

ReWnTb ypaBHEHUE: (sinx — ;) (cosx + %) = 0.
PeweHune:

. 1 2
smx—§=0 cosx+g=0

x = (=1)k arcsin% +mnk,k€Z x = tarccos (—E) +nk, keZ

OTseT: x = (—1)% arcsin§ + 7k, k € Z,x =+ arccos (—%) + 7k, k € Z.



[Tpumep:

) V2 2 . 1
P®LWNTL ypaBHEHUE: COS X - Sin X + - CosX ——=sinx —— = 0.

PeweHue:
V2\ /[ . V2
cosx —— || sinx+—1]=0
2 2
V2 . V2
cosx = — sinx = ——-
x=i§+2nk,kez x=(—1)’<+1§+nk,kez

OtBeT:x =+ -+ 2nk,k €EZ;x = (—1)k+1§+nk,k € Z

N



3ameyaHue!

f(x) - fo(x) =0
{f1(x) =0

f2(x) =0

tgx- (sinx—1)=0

T
x =nk,k € Z x=§+ﬂk,k€Z

%+nk ¢ D(tg x)

OmgeT: x =1k, k € Z



